No.[Handler Dog Breed TOTAL 1st 2nd 3rd 4th
Ranking Point Ranking Point Ranking Point Ranking Point Ranking Point
1|0 Ath  |Fourze |B.OY— 1 i2150[ 1 500 1 :500[ 2 i450]| 2 :700
AR e I A T/N—FR 2 2000 2 i450| 2 i450| 1 i500| 4 :60.0
3T X& |RIKU S57Ik—JL 3 900 6 i250| 3 {400 6 250
ATm 5B | 7UX IMIX 4 :80.0 4 :350| 6 450
5|l kM & JULIA [Bal)— 5 :76.0 4 :350| 3 i400| 11 : 1.0
6|f2H Bt  |Jazz B.a!— 6 _:75.0 1 .:75.0
1| X8 |fdE B.al)— 7 650 5 :30.0 7 :350
7|45 ®[=E |Henry [B.aY— 7 i65.0 L8 3 650
9| RIL #ath  |JET B.al)— 9 550 3 1400 9 i150
9|fEE F— |L B.al— 9 i550 5 i550
115K 5 Ow4 B.al)— 11 460| 8 i150| 5 i30.0 13 1.0
12| =3 XHF & B.a!)— 12 1350 | 4 :350
13[=48 #0156 | B.al)— 13 1200 7 200
141U 15 Dream |Z272k—)L 14 i 50 10:5.00
15[k SF [HPrH [STSF—IL 15 1 1.0 12:1.00
) 0
No.[Handler Dog Breed TOTAL 1st 2nd 3rd 4th
Ranking Point Ranking Point Ranking Point Ranking Point Ranking Point
18K BF¥ |[XERE |BaY— 1 1000 3 400 6 i250| 6 i250[ 9 i10.0
2|5R mA  |KIT MIX 2 i850 4 i350| 1 i50.0
2|lIER BHE [JL—% [BaY— 2 i850 5 300 5 i300| 6 250
AltcE = NS S57IK=)L 4 i800| 4 i350| 8 (150 | 8 150 8 150
5|F% #Ex A= TAYAavA | 5 i700| 5 300 7 i200| 7 i200
5|=E JE+ |CHAR [B.al— 5 i70.0 4 i350| 4 i350
11ELE AR (13 B.al)— 7 i60.0 3 400 7 i20.0
8114 5B | 7UR  |MIX 8 500 1 i500
8[iEAAR & |Lbd |4 Yk 8 i50.0 1 i50.0
10BR = P> B.al)— 10 i45.0 2 i450
10(T#M =k |=<b aJ—F— 10 i45.0 2 450
10| KK A |X A T/N—F 10 i450| 2 i450
10|&3 #if  [ClEd  |[3—F— 10 i45.0 2 i450
143138 2+  |Jass Y ayh79 77 | 14 :40.0 3 i40.0
15:EE B+ [979 B.al)— 15 i40.0 3 i40.0
16:FBE 7 JZX L |BaY)— 16 i30.0 5 i30.0
Obpe )
No.|Handler Dog Breed TOTAL 1st 2nd 3rd 4th
Ranking Point Ranking Point Ranking Point Ranking Point Ranking Point
1[50 At [Fourze [BaY)— 1 i2200] 2 450 1 i500| 2 (450 3 i80.0
2|fNgE hth  |LEON [B.aY— 2 1900 6 i250| 2 i450| 1 500 4 700
342@H #t |[Jazz B.al)— 3 :100.0 1 i100.0
4|FTh 25 Isolana  |B.Ol— 4 :90.0 2 i90.0
5|pR EE FA [Bal— 5 i80.0 [ 3 :400| 3 :400
6|=48 Fsh |AEHZ [*XU/7 6 :660| 1 i500]| 8 i15.0 15 i 1.0
78R 2B SLx  |BOl)— 7 i60.0[ 5 i300| 5 :300
8[1T# 5B | 7UR |MIX 8 i55.0 4 i350 9 200
9|lL'R 5 Orange |Z77F—)L 9 :50.0 6 500
105K 5 [m 52 B.al)— 10 41.0 3 400 14 i 1.0
11 EH |&F A T/IN—F 11 i40.0 77400
12|&5 T |CExb  [3—F— 12 1360 | 4 i350 12 110
13|[EE %5 99 B.al)— 13 1350 4 i350
141{F% 7 vy |Bal— 14 i350 6 250 10 :10.0
15|1=F = 7L J7 [Bal— 15 :30.0 8 i30.0
16| =48 F05h @& B.al— 16 i21.0 7 i20.0 16 : 1.0
17{F% 7 XL |BaY— 17 i10.0 9 :10.0
185=H W+ |Hearts [B.al)— 18 150 10 { 5.0
19|IUF ¥ZE |Orange |575k—IL 19 1.0 11 :1.0
2001 =3  |/Mg% >7Ik—=)L 20 : 1.0 18 1 1.0
21lBE AR |3 B.al)— 21 : 1.0 19 1 1.0
2|1 BF  [HPH  |TTIF—IL 22 1.0 13:11.0




